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Correct Marks : 5 Wrong Marks : 1

s collegedunia:

-



Question Key Details :

Key Value
Comprehension MCQ

Creativity process oceurs in the following sequence:

A Tllumination

B. Preparation

C. Verification

D. Idea Germination
E. Incubation

Choose the correct answer from the options given below:
LBAB R
2.D,B,E.AC
3 B.D.AEC

4 A C.D.B.E

Options :

485584133861. 1
485584133862. 2
485584133863. 3
485584133864. 4

Question Number : 101 Question Id : 48558433466 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Options :
485584133861. 1
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485584133862. 2
485584133863. 3
485584133864. 4

Question Number : 102 Question Id : 48558433467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

All ideas may not become a sound business opportunity. Therefore we need to assess the idea and

opportunity by following a correct sequence. Rearrange the steps in the correct order.

A Level of operation

B. Product identification
C. Cost of production

D. Competition

E. Application and use

Choose the correct answer from the options given below:

1.B.A.D.C.E
2.B.EACD
3.CCA.B.E.D

4. B, B, A DT

Options :

485584133865. 1
485584133866. 2
485584133867. 3
485584133868. 4

Question Number : 102 Question Id : 48558433467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

collegedunia:
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Options :

485584133865. 1
485584133866. 2
485584133867. 3
485584133868. 4

Question Number : 103 Question Id : 48558433468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

are 'Convenient frames of reference for streamlining the process of generation of 1deas’.

1. Reference ficlds

[

. Idea generation
3. Idea fields

4. Product generation

Options :

485584133869. 1
485584133870. 2
485584133871.3
485584133872. 4

Question Number : 103 Question Id : 48558433468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
|Key Value

collegedunia:
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Options :

485584133869. 1
485584133870. 2
485584133871.3
485584133872. 4

Question Number : 104 Question Id : 48558433469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

While on a family outing to a nearby mall by the name of RB Mall'. Mr. Harji saw that most people coming to
the mall forgot their mask, and had to pay a fine ranging from Z500 to 22000/-. So he decided to open a shop
for selling mask at the mall entrance. Identify the trend:

1. Bead Trend
2. See Trend
3. Watch Trend

4, Talk Trend

Options :

485584133873. 1
485584133874. 2
485584133875.3
485584133876. 4

Question Number : 104 Question Id : 48558433469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584133873. 1
485584133874. 2
485584133875. 3
485584133876. 4
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Question Number : 105 Question Id : 48558433470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

"Mansukhbhai Prajapati thought of a non-stick pan made from clay and a clay refrigerator that works without
electricity.” Which step of creative process 18 discussed above?

1. Preparation
2. Idea germination
3. Incubation

4. Illumination

Options :

485584133877. 1
485584133878. 2
485584133879. 3
485584133880. 4

Question Number : 105 Question Id : 48558433470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584133877. 1
485584133878. 2
485584133879. 3
485584133880. 4
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Question Number : 106 Question Id : 48558433471 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

In which type of opportunity assessment step. you examine an 1dea through finding out whether the produet 1s
present in use and you may think of modifying it for the better use?

1. Level of operation
2. Cost
3. Application and use

4. Competition

Options :

485584133881. 1
485584133882. 2
485584133883. 3
485584133884. 4

Question Number : 106 Question Id : 48558433471 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584133881. 1
485584133882. 2
485584133883. 3
485584133884. 4
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Question Number : 107 Question Id : 48558433472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Family dinner, Speciality Tourism. Career Counselling Centres and Ice-cream Parlours are a part of which idea

field?

1. Creative Efforts

5]

. Trading related Ideas
3. Service Sector Ideas

4, Market Driven Ideas

Options :

485584133885. 1
485584133886. 2
485584133887. 3
485584133888. 4

Question Number : 107 Question Id : 48558433472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584133885. 1
485584133886. 2
485584133887. 3
485584133888. 4

Question Number : 108 Question Id : 48558433473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Avantika did a course in food preservation and decided to set up her own business of food preservation.
canning, freezing and pickling. Identify the type of natural resource used by her:

1. Flowers
2. Medicinal Herbs
3. Citrus and other fruits

4, Horticulture

Options :

485584133889. 1
485584133890. 2
485584133891. 3
485584133892. 4

Question Number : 108 Question Id : 48558433473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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485584133889. 1
485584133890. 2
485584133891. 3
485584133892. 4
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Question Number : 109 Question Id : 48558433474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Identify the term related with concept of "gain generated on an investment relative to the amount of money
mvested by the shareholder".

1. Beturns on Investment
2. Capital Gain
3. Return on Equity

4. Economic Order Quantity

Options :

485584133893. 1
485584133894. 2
485584133895. 3
485584133896. 4

Question Number : 109 Question Id : 48558433474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

collegedunia:
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Options :

485584133893. 1
485584133894. 2
485584133895. 3
485584133896. 4

Question Number : 110 Question Id : 48558433475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Shreya has prepared her business plan and is stuck at the marketing plan for her enterprise. Suggest correct
steps to her for marketing plan.

A. Business Situation Analysis
B. Define marketing Strategy
C. Conduct SWOT Analysis
D. Identify the target Market
E. Establish goals

Choose the correct answer from the options given below:
1. A—B—C—D—FE
2A—DC—FB
33 A C—D—FB

4 A—DC—B—F

Options :

485584133897. 1
485584133898. 2
485584133899. 3
485584133900. 4

Question Number : 110 Question Id : 48558433475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
|Key Value

collegedunia:
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Options :

485584133897 1
485584133898. 2
485584133899. 3
485584133900. 4

Question Number : 111 Question Id : 48558433476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

"Thmking in advance. what 1s to be done, when 1t 1s to be done. how to be done and by whom 1t should be
done." defines

L. Problem Solving
2. Decision Making
3. Planning

4. Spotting opportunity

Options :

485584133901. 1
485584133902. 2
485584133903. 3
485584133904. 4

Question Number : 111 Question Id : 48558433476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

collegedunia:
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Key

Value

Comprehension

MCQ
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Options :

485584133901. 1
485584133902. 2
485584133903. 3
485584133904. 4

Question Number : 112 Question Id : 48558433477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

"How do we get there' question in marketing plan doesn't discuss:

1. The specific marketing strategy that will be implemented

()

. When 1t will oceur ?

3. Who will be responsible for the monitoring of activities ?

4, What need 1t satisfies 7

Options :

485584133905. 1
485584133906. 2
485584133907. 3
485584133908. 4

Question Number : 112 Question Id : 48558433477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

collegedunia:



"§H a8 $4 gge" U [a9uH Ao 4 39 9 [ue! =ai 981 ol -

1. T &1 S gl [afe fagoE gre|
2. UH1 &g BT
3. TIidATeAT &1 TR & foid 1 Sarads gr|
4, Yg Y SR3d &I QR B

Options :

485584133905. 1

485584133906. 2

485584133907. 3
485584133908. 4

Question Number : 113 Question Id : 48558433478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Raghav 1 the owner of a business. He wants to transfer his ownership to his danghter Poorvi. He can do this
without taking permission from anyone if the business is a (Fill in the blank.)

1. Partnership firm
2. Public himited company
3. Private limited company

4. Sole Proprietorship

Options :

485584133909. 1
485584133910. 2
485584133911. 3
485584133912. 4

Question Number : 113 Question Id : 48558433478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584133909. 1
485584133910. 2
485584133911. 3
485584133912. 4

Question Number : 114 Question Id : 48558433479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

element of business plan helps the entreprencur to carefully evaluate and decide the legal
structure of the organisation. Fill in the above blank with correct option:

1. Organisational plan

[ S

. Marketing plan

L5

. Financial plan

4. Production plan

Options :

485584133913. 1
485584133914. 2
485584133915. 3
485584133916. 4

Question Number : 114 Question Id : 48558433479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

collegedunia:
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Options :

485584133913. 1
485584133914. 2
485584133915.3
485584133916. 4

Question Number : 115 Question Id : 48558433480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Mannat, a student of entrepreneurship decided to start her venture of manufacturing "Flood rescuing raft". For
fundmg. she contacted one of the angel investors who suggested her to prepare a three minute summary of her
business plan. Identify from the following options, the format of business plan suggested to Mannat. which 1s
often used as a teaser to awaken the intersst of potential funders, customers ete.

1. A well written presentation for external shareholders

[

. An internal operational plan
3. A pitch deck with oral narratives
4, Elevator pitch

Options :

485584133917. 1
485584133918. 2
485584133919. 3
485584133920. 4

Question Number : 115 Question Id : 48558433480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

collegedunia:
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Options :

485584133917. 1
485584133918. 2
485584133919. 3
485584133920. 4

Question Number : 116 Question Id : 48558433481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Select the option that enlists all the micro environment factors from the following
A, Competition
B. Rate of Inflation
C. Supphiers
D. Customers
E. Size of young population of India.

Choose the correct answer from the options given below:
1.B.D.E only
2.A.C.Donly
3.C,D, E only

4.B.C.D only

Options :

485584133921. 1
485584133922.2
485584133923.3
485584133924. 4

Question Number : 116 Question Id : 48558433481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
collegedunia:
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Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ
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Options :

485584133921. 1
485584133922.2
485584133923.3
485584133924. 4

Question Number : 117 Question Id : 48558433482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Match List I with List IT
LISTI LISTII
Components of financial plan Features

Proforma mvestment decision

L

The amount of cash available

Proforma Financing decision

1.

[How much funds are required

Proforma cash flow

IT1.

Protected net profit

o|o|w|=

Proforma Income Statement

IV

Where will funds come from

Choose the correct answer from the options given below:

1

AL BALL CHIOLL D-IV

AL B-IV. C-1. D-TII

CA-TV. BA-IILL CAIT, D1

CA-IIL B-IL C-L. D-IV

collegedunia:



Options :

485584133925. 1
485584133926. 2
485584133927. 3
485584133928. 4

Question Number : 117 Question Id : 48558433482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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1. A-L B-IL C-IIL. D-IV

2, A-IL B-TIV, C-1, D-III

L#5]

CA-IV, B-III, C-I1, D-1

4. A-IT1. B-1I. C-1. D-IV

Options :

485584133925. 1
485584133926. 2
485584133927. 3
485584133928. 4

Question Number : 118 Question Id : 48558433483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

s collegedunia:

-



A good advertising catches the eye or ear of the audience. The correct order of remaining stages 1s:

A, Interest
B. Action
C. Attention
D. Desire

Choose the correct answer from the options given below:

1. A, B. C only
2.A D.Bonly
3.B.D only
4.D.A.B only

Options :

485584133929. 1

485584133930. 2

485584133931. 3
485584133932. 4

Question Number : 118 Question Id : 48558433483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

TS 351 [AgTe Sidr3ii &1 e et ST g1 9y @Ruil &1 TSI PH § -

A ST
B. 0
C. &
D. 9@T8d

frafaiad fawedl § ¥ 961 9w & 997 DI
1. Pad A.B. C
2. Had A, D, B
3. POd B. D
4. A D, A B

Options :

485584133929. 1
485584133930. 2
485584133931.3
485584133932. 4

collegedunia:



Question Number : 119 Question Id : 48558433484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
' A Patent'

1. Gives the creator of original work exclusive rights

[ ]

. Grants an inventor the right to exclude others from using or selling an mvention
3. A recognizable sign. design or expression

4, Protects the visual design of objects that are not purely utilitarian

Options :

485584133933. 1
485584133934. 2
485584133935. 3
485584133936. 4

Question Number : 119 Question Id : 48558433484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

U@ gee .
1. 59 B & AR ®f [aRy siieR Sarg!
A% @1 fdl SfTSPR 1 T B3 1 99 ¥ 3301 Bl 3T B DI HUDPR STl
. U% UgdH g1 g, feeig sryar sifioafda
3 I & TR [ESS &1 Ha0] $dl 6. Sl & [99s =0 9 Iqifidar! 18l |

Options :

485584133933. 1
485584133934. 2
485584133935.3
485584133936. 4

[ 2]

L%]

s

Question Number : 120 Question Id : 48558433485 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

collegedunia:




Match List I wath List IT

LISTI LISTII

A [Product L Method to spre;d the word about the
product or service

B. |Price II. [ltem actually being sold

C. |Place IT1. [Value put on a product

; - [Path along which goods move from

D. |Promotion IV

producers to consumers

Choose the correct answer from the options given below:
1. ATV, B-I1, C-1. D-IIT
2. AL B-ILL C-IV, D-1
3. A-IL. B-1. C-IV. D-III

4. A-11, B-1II, C-IV, D-1

Options :

485584133937. 1
485584133938.2
485584133939. 3
485584133940. 4

Question Number : 120 Question Id : 48558433485 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

eIl 1 61 i 11 9 fHer Sifo

Gkl T 11

A Jaeg L g% a1 a1 & YaR &1 diia

B |amd 1L | &l o7 arell 9%

c. [=mH IIL | a%q &1 5

D |1=ER IV. | 95 I Foredl 950U SdTa® Y SUHIGI dd Fdiied gidl o
Faffad el & O 98! o & 999 i -

1. A-IV, B-II, C-I, D-III
2. AL B-II, C-IV, D-I
3. A-IL B-1, C-IV. D-III

4. A-IL B-1IIL, C-IV, D-I

Options :

485584133937. 1
485584133938. 2
485584133939. 3

s collegedunia:

-



485584133940. 4

Question Number : 121 Question Id : 48558433486 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Identify the correct statements

A. Alogo is used as a short path for advertising.
B. A logo anchors company's brand.

C. A logo is only used by mdividuals.

D. A logo has to be completely graphic.

E. Alogo is also called logotype.

Choose the correct answer from the options given below:
1. A. B only
2.A.B.E only
3. A. Eonly

4. C.E only

Options :

485584133941. 1
485584133942.2
485584133943. 3
485584133944. 4

Question Number : 121 Question Id : 48558433486 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

collegedunia:
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D. THT gl &9 ¥ W1 gial &
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FrefaRad fdeedl § O 9e! 3o &1 904 Sy
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. Had A, B3IRE
3, Pad A IRE
4.5 C ARE

Options :

485584133941. 1
485584133942. 2
485584133943. 3
485584133944. 4

[

Question Number : 122 Question Id : 48558433487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

When. with the merger of two companies, the combined value of the entity 15 more than the sum total of their
mdividual company value. it 15 called as

1. Competency
2. Value addition
3. Synergy

4. Conglomerate

Options :

485584133945. 1
485584133946. 2
485584133947. 3
485584133948. 4

Question Number : 122 Question Id : 48558433487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value

collegedunia:




|C0mprehension |MCQ |

aﬁfa’iﬁqﬁ!ﬁ%ﬁmg 1 3TS 1 W I, Uhd $UH] & $dl I Hed § 39 giar ¢ df g9
HET A |

1. &fHdT

2

3. diddHT

| S

4. JH=YHI

Options :

485584133945. 1
485584133946. 2
485584133947. 3
485584133948. 4

Question Number : 123 Question Id : 48558433488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

"Rohan took an agency of MRF tyres & opened a shop at Lajpat Nagar market".
Which type of franchising 15 discussed in the above paragraph?

1. Manufacturing franchise opportunity

()

. Produet franchise business opportunity
3. Business franchise opportunity venture

4. Business format franchise opportunity

Options :

485584133949. 1
485584133950. 2
485584133951. 3
485584133952. 4

Question Number : 123 Question Id : 48558433488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

collegedunia:




"JIE + MRF IR &0 B Toidl] @l 3R dTeldd R & o @l
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| )
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Options :

485584133949. 1
485584133950. 2
485584133951. 3
485584133952. 4

Question Number : 124 Question Id : 48558433489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Which of the following 1s NOT the advantage of franchising from the point of view of franchisee?

1. Product Acceptance

()

. Knowledge of the market

Lar¥]

. Quick Expansion

4, Management expertise

Options :

485584133953. 1
485584133954. 2
485584133955. 3
485584133956. 4

Question Number : 124 Question Id : 48558433489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

collegedunia:




thaTsol & efb@i I 99 & 3 &F 1 thafoi &1 a1y T8 o7

.31 Wil

. FOR BT JH
 dig fawar

4. gae Fgufdr

Options :

485584133953. 1
485584133954. 2
485584133955.3
485584133956. 4

[y
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Question Number : 125 Question Id : 48558433490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

A merger between the two soft drink manufacturing company in Jaipur is an example of :

1. Conglomerate

[ o]

. Market extension mergers
3. Product extension mergers

4. Horizontal merger

Options :

485584133957. 1
485584133958.2
485584133959. 3
485584133960. 4

Question Number : 125 Question Id : 48558433490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

collegedunia:




SR ¥ &1 90 [$% a1 ardl Syl 1 [day gl 3asul &

1. THETHR0]
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Options :

485584133957. 1
485584133958. 2
485584133959. 3
485584133960. 4

| S

Question Number : 126 Question Id : 48558433491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Costs involved with receipt of goods, inspection of goods 1s known as

1. Purchased cost of inventory

[ )

. Ordering cost
3. Holding cost

4. EOQ (Economic Order Quantity)

Options :

485584133961. 1
485584133962. 2
485584133963. 3
485584133964. 4

Question Number : 126 Question Id : 48558433491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

collegedunia:
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4,73y

Options :

485584133961. 1
485584133962. 2
485584133963. 3
485584133964. 4

| S

Question Number : 127 Question Id : 48558433492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Money needed to fund the normal day to day operations of a business 1s:
1. Working Capital

2. Shareholders funds

Lar¥]

. Depreciation

4, Interest

Options :

485584133965. 1
485584133966. 2
485584133967. 3
485584133968. 4

Question Number : 127 Question Id : 48558433492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

collegedunia:




GAH b &1 URTTE og Y5l P HGRIDHl Pl DL 6 -
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Options :

485584133965. 1
485584133966. 2
485584133967. 3
485584133968. 4

Question Number : 128 Question Id : 48558433493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Net working capital can be calculated using:

A, Current assets

B. Non-current assets

C. Current Liabilities

D. Non-current Liabilities
E. Shareholder's funds

Choose the correct answer from the options given below:
1. Aand D only
2. A and B only
3. Aand C only

4. D and E only

Options :

485584133969. 1
485584133970. 2
485584133971. 3
485584133972. 4

Question Number : 128 Question Id : 48558433493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

collegedunia:
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Options :

485584133969. 1
485584133970. 2
485584133971. 3
485584133972. 4

[

Question Number : 129 Question Id : 48558433494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Calculate ROI (Return on Investment): where you spend Z2.00,000/- to open a restaurant and make a profit
of ¥40,000/- in one year

1. 10%
2.20%
3. 50%
4.25%

Options :

485584133973. 1
485584133974. 2
485584133975. 3
485584133976. 4

Question Number : 129 Question Id : 48558433494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
|Key Value

collegedunia:




|Comprehension IMCQ |

ROI (39 W) 3 TT0M1 6 ofd 310 W< \IeH TR 22,00,000/- Fd B § R 240,000/- HT aH
TH a4 & $A &

| S
(3
{ e}
=]
e

L]
F
L
2

&

4. 25%

Options :

485584133973. 1
485584133974. 2
485584133975. 3
485584133976. 4

Question Number : 130 Question Id : 48558433495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Effective Inventory Control System aims at

A. Providing stock as and when the need arises
B. Procuring stock at minimum possible price
C. Minimizing cost

D. Minmmizing investment in inventory

E. Minimizing Control

Choose the correct answer from the options given below:

1. A and D only

[ ]

.B and D only
3. Aand B only

4. D and E only

Options :

485584133977. 1
485584133978. 2
485584133979. 3
485584133980. 4

Question Number : 130 Question Id : 48558433495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
|Key Value

collegedunia:




|C0mprehension |MCQ
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Options :

485584133977. 1
485584133978.2
485584133979. 3
485584133980. 4

b

Question Number : 131 Question Id : 48558433496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

A seller sells 30000 umits of a produet per year, demand 15 uniform. Purchase cost 1s Rs. 6/- per product.
Holding cost per annum 1s 20% of purchase cost. Ordering cost is Re.500/- per order. What would be the
Economic Order Quantity?

1. 5000 units
2. 5500 units
3. 5200 units

4. 4800 units

Options :

485584133981. 1
485584133982. 2
485584133983. 3
485584133984. 4

Question Number : 131 Question Id : 48558433496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

collegedunia:




Question Key Details :

Key Value
Comprehension MCQ

U@ fadbelr ufday U Iare 1 30000 SH1SUT a1 8. H &R 81 @il O 6/- % Ufd gare, g
ANTd RIS AT 20% ey g1 38X & &1 arId 500/- = Uid 3HTex 81 E0Q (3Mfie TS 9mm) &
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1. 50005
2. 5500 1
3.5200 SPIEAl

4. 4800 SPHIZHT

Options :

485584133981. 1
485584133982. 2
485584133983. 3
485584133984. 4

Question Number : 132 Question Id : 48558433497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Sandeep. Molut. Rajat and Rakesh are businessmen producing different products. It takes Sandeep 4 months,
Mohit 3 months. Rajat 7 months and Rakesh 1 month. to purchase inventory and to sell the finished product in
the market to get cash. Who will require maximum working capital?

1. Sandeep

[ ]

. Mohit
3. Rajat

4. Rakesh

Options :

485584133985. 1
485584133986. 2
485584133987. 3
485584133988. 4

Question Number : 132 Question Id : 48558433497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

collegedunia:
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Options :

485584133985. 1
485584133986. 2
485584133987. 3
485584133988. 4

| S

L]

Question Number : 133 Question Id : 48558433498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

The role of transferring financial resources from the surplus units to deficit units 1s referred to as

1. Rights Issue

()

. Angel Investors

Lar¥]

. Capital Markets

4, Finaneial intermediation

Options :

485584133989. 1
485584133990. 2
485584133991. 3
485584133992. 4

Question Number : 133 Question Id : 48558433498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

collegedunia:
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Options :

485584133989. 1
485584133990. 2
485584133991. 3
485584133992. 4

Question Number : 134 Question Id : 48558433499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

The 'new 13sues’ may be 1ssued by old companies and are called

1. Public 1ssue
2. Rights 1ssue
3. Further 1ssue

4, Initial issue

Options :

485584133993. 1
485584133994. 2
485584133995. 3
485584133996. 4

Question Number : 134 Question Id : 48558433499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

collegedunia:
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Options :

485584133993. 1
485584133994. 2
485584133995. 3
485584133996. 4

Question Number : 135 Question Id : 48558433500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Mahima started a venture where she could provide food from various restaurants to passengers travelling by
train. She ereated an app for the same. She was guided all throughout by her friend & mentor Shalini, who was
a successful entreprencur herself. Shalini had a corpus of funds which she decided to transfer to Mahima for

her venture, Mahima preferred to gave Shalini a return on her investment. Identify the source of financing for
Mahima.

[u—

. Venture Capital

[ ]

. Angel Investor
3. Loan
4. Charity

Options :

485584133997. 1
485584133998. 2
485584133999. 3
485584134000. 4

Question Number : 135 Question Id : 48558433500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

collegedunia:
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4. qlq

Options :

485584133997. 1
485584133998. 2
485584133999. 3
485584134000. 4

Question Number : 136 Question Id : 48558433501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

1s a type of private equity capital provided as seed funding to early stage. high potential. high risk
growth up companies/entrepreneurs.

1. Angel investor

| B

. Venture Capital

. Working Capital

L¥E]

4. Fixed Capital

Options :

485584134001. 1
485584134002 2
485584134003. 3
485584134004. 4

Question Number : 136 Question Id : 48558433501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Question Number : 137 Question Id : 48558433502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Matech List I with List IT

LISTI LISTII
Types of Issues Characteristics
A |Public issue I. [Inexpensive & no brokerage
B |Rights 1ssue 1T [Stock options to motivate emplovees
C. |Private placement | II1. [Issue of prospects
D. |Offer to employees | IV. JUTI, LIC, GICI. SLEC

Choose the correct answer from the options given below:
1. A-IV, B-IIL, C-II. D-1
2. AL B-1L G-IV, D-II
3. AL B-IV, C-1. D-II1

4. A-L B-1IL C-II, D-IV

Options :

485584134005. 1
485584134006. 2
485584134007. 3
485584134008. 4

Question Number : 137 Question Id : 48558433502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

s collegedunia:
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Key Value
Comprehension MCQ
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2. AT B-1. C-IV, D-II
3. AL B-IV., C-I. D-III

4. A-L. B-IIL. C-IL. D-IV

Options :

485584134005. 1
485584134006. 2
485584134007. 3
485584134008. 4

Question Number : 138 Question Id : 48558433503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Venture capitalist look for an exit from the business in the time frame of typically 3-7 years. Identify the way
venture capitalist (VC) exit within the time frame from the business where they are investing?

1. VC's have a continuous mvolvement in the business so they do not exit.
2. VC's disinvest the holdings either to the promoters or in the market

3. VC's invest mn the early stage and exit i the pre-public stage by disinvesting their holdings to the
promoters

4, V('s exit after selling the shares in the market

Options :

485584134009. 1
485584134010. 2
485584134011. 3
485584134012. 4

Question Number : 138 Question Id : 48558433503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Key Value
Comprehension MCQ
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Options :

485584134009. 1
485584134010. 2
485584134011. 3
485584134012. 4

Question Number : 139 Question Id : 48558433504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Identify the role played by Amit in the process of Financial Intermediation, if he has money which he does not
want to spend

1. Financial Intermediary
2. Surplus Unit
3. Deficit Unit

4. Lender

Options :

485584134013. 1
485584134014.2
485584134015. 3
485584134016. 4

Question Number : 139 Question Id : 48558433504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
|Key Value
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Options :

485584134013. 1
485584134014. 2
485584134015. 3
485584134016. 4

Question Number : 140 Question Id : 48558433505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Market facilitating to transfer resources from the savers to the entreprencurs setting new enterprises is:

1. Primary market

[ ]

. Secondary market

¥

. Money Market

4. Debt Market

Options :

485584134017. 1
485584134018. 2
485584134019. 3
485584134020. 4

Question Number : 140 Question Id : 48558433505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584134017. 1
485584134018. 2
485584134019. 3
485584134020. 4

Sub-Section Number : 2
Sub-Section Id : 4855842423
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 141 Question Id : 48558433506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Compl

Case Study (41-45):

Vibha had created a unique all weather jackets which had solar panels embedded in it. The USP of the jacket
was that, harnessing the solar energy it could keep the jacket warm like a heater and cold like an air
conditioner depending on the weather. Her market was the youth who came out of the comfort of their homes
to stay in hostels. The name of her product was 'TURN COAT' which was beautifully written in comic sans
font outside her showroom in FLD Mall. The name had a rising sun next to it making it an attractive
composition to look at. Vibha was reading a lot of literature on the promotion strategies that she could use. She
had already fixed a public appearance by the superstar Ralia Kapoor at her showroom in 15 days. She opened
up Instagram and Twitter accounts in the name of "TURN COAT'". She got the name of the product and the
symbol of the rising sun printed on the parking ticket, that were collected by customers coming to the mall.
While deciding on the pricing she was suggested by her mentor to keep the price very high to recover her R &
D costs spent on developing the product. She was a little hesitant to do so and decided to price TURN COAT
by covering the cost of producing it plus with reasonable profits

The name of Vibha's product "TURN COAT" written in Comic sans font and the rising sun next to the name 1s:
1. Brand Mark
2. Logo
3. Brand Name

4, Trade Mark
Options :

collegedunia:




485584134021. 1
485584134022. 2
485584134023. 3
485584134024. 4

Question Number : 141 Question Id : 48558433506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
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Comprehension Compl
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485584134021. 1
485584134022. 2
485584134023. 3
485584134024. 4
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Question Number : 142 Question Id : 48558433507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Case Study (41-45):

Vibha had created a unique all weather jackets which had solar panels embedded in it. The USP of the jacket
was that, harnessing the solar energy it could keep the jacket warm like a heater and cold like an air
conditioner depending on the weather. Her market was the youth who came out of the comfort of their homes
to stay m hostels. The name of her product was "TURN COAT' which was beautifully written in comic sans
font outside her showroom m FLD Mall. The name had a rising sun next to it making it an attractive
composition to look at. Vibha was reading a lot of literature on the promotion strategies that she could use. She
had already fixed a public appearance by the superstar Ralia Kapoor at her showroom in 15 days. She opened
up Instagram and Twitter accounts in the name of "TURN COAT". She got the name of the product and the
symbol of the rising sun printed on the parking ticket, that were collected by customers coming to the mall.
While deciding on the pricing she was suggested by her mentor to keep the price very high to recover her R &
D costs spent on developing the product. She was a little hesitant to do so0 and decided to price TURN COAT
by covering the cost of producing it plus with reasonable profits

The celebrity appearance of Ralia Kapoor at Vibha's showroom can be categorized as a part of:
1. Advertising
2. Public relations
3. Product placement

4. Sales promotion

Options :

485584134025. 1
485584134026. 2
485584134027. 3
485584134028. 4

Question Number : 142 Question Id : 48558433507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Compl
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485584134025. 1
485584134026. 2
485584134027. 3
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Case Study (41-45):

Vibha had created a unique all weather jackets which had solar panels embedded in it. The USP of the jacket
was that, harnessing the solar energy it could keep the jacket warm like a heater and cold like an air
conditioner depending on the weather. Her market was the youth who came out of the comfort of their homes
to stay m hostels. The name of her product was "TURN COAT' which was beautifully written in comic sans
font outside her showroom m FLD Mall. The name had a rising sun next to it making it an attractive
composition to look at. Vibha was reading a lot of literature on the promotion strategies that she could use. She
had already fixed a public appearance by the superstar Ralia Kapoor at her showroom in 15 days. She opened
up Instagram and Twitter accounts in the name of "TURN COAT". She got the name of the product and the
symbol of the rising sun printed on the parking ticket, that were collected by customers coming to the mall.
While deciding on the pricing she was suggested by her mentor to keep the price very high to recover her R &
D costs spent on developing the product. She was a little hesitant to do so0 and decided to price TURN COAT

by covering the cost of producing it plus with reasonable profits

The pricing technique that was suggested to Vibha and the one that she finally used can be identified as-

A. Variable pricing

B. Penetration pricing
C. Skimming pricing
D. Fixed cost pricing
E. Cost-plus pricing

Choose the correct answer from the options given below:

1.C & E only
2.A&Bonly
3.B & D only

4.C & D only

Options :

485584134029. 1
485584134030. 2
485584134031. 3
485584134032. 4

Question Number : 143 Question Id : 48558433508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Case Study (41-45):

Vibha had created a unique all weather jackets which had solar panels embedded in it. The USP of the jacket
was that, harnessing the solar energy it could keep the jacket warm like a heater and cold like an air
conditioner depending on the weather. Her market was the youth who came out of the comfort of their homes
to stay m hostels. The name of her product was "TURN COAT' which was beautifully written in comic sans
font outside her showroom m FLD Mall. The name had a rising sun next to it making it an attractive
composition to look at. Vibha was reading a lot of literature on the promotion strategies that she could use. She
had already fixed a public appearance by the superstar Ralia Kapoor at her showroom in 15 days. She opened
up Instagram and Twitter accounts in the name of "TURN COAT". She got the name of the product and the
symbol of the rising sun printed on the parking ticket, that were collected by customers coming to the mall.
While deciding on the pricing she was suggested by her mentor to keep the price very high to recover her R &
D costs spent on developing the product. She was a little hesitant to do so0 and decided to price TURN COAT
by covering the cost of producing it plus with reasonable profits

The name of the product and the symbol printed on the parking tickets 1s an example of :
1. Above-the-line approach
2. Public Relations
3. Ambient (Media Mix )

4. Business Promotion (Sales promotion)

Options :

485584134033. 1
485584134034. 2
485584134035. 3
485584134036. 4

Question Number : 144 Question Id : 48558433509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
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Case Study (41-45):

Vibha had created a unique all weather jackets which had solar panels embedded in it. The USP of the jacket
was that, harnessing the solar energy it could keep the jacket warm like a heater and cold like an air
conditioner depending on the weather. Her market was the youth who came out of the comfort of their homes
to stay m hostels. The name of her product was "TURN COAT' which was beautifully written in comic sans
font outside her showroom m FLD Mall. The name had a rising sun next to it making it an attractive
composition to look at. Vibha was reading a lot of literature on the promotion strategies that she could use. She
had already fixed a public appearance by the superstar Ralia Kapoor at her showroom in 15 days. She opened
up Instagram and Twitter accounts in the name of "TURN COAT". She got the name of the product and the
symbol of the rising sun printed on the parking ticket, that were collected by customers coming to the mall.
While deciding on the pricing she was suggested by her mentor to keep the price very high to recover her R &
D costs spent on developing the product. She was a little hesitant to do so0 and decided to price TURN COAT
by covering the cost of producing it plus with reasonable profits

Promoting her product on instagram and twitter accounts would fall under:
1. Above the line approach
2. Below the line approach
3. Through the line approach
4. Indirect sales strategy approach

Options :

485584134037. 1
485584134038. 2
485584134039. 3
485584134040. 4
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Mergers: Read the case and answer the questions (46-50)

Gaurav owned an event management company called Lotus Ltd.' in Mumbai. He used to organise weddings,
meetings. conferences , ete. These events were full of activities, musie, food and entertainment. He used to
outsource decoration material. food as well as entertamnment from different vendors.

Ms. Geetika was an owner of catering and decoration company called Miles Ltd. in Mumbai. She used to cater
the food and decoration needs of various customers such as corporate ag well as family functions.

Gaurav & Geetika were performing well in their respective businesses until covid-19 lockdown was
introduced. Due to lack of demand for food. decoration and events, both the companies started facing losses.
As the lockdovwn was lifted. nearly after a year, both Gaurav and Geetika were facing problems in managing
their inereasing operational costs with lesser number of customers. As they were planning to look for better
business opportunity. they got to meet each other at an 'exponential’ organised by trades of Mumbai at BKC
ground.

In this 'exponential’, there were different traders sharing their business ideas with each other. Hence. it was
here that Gaurav and Geetika decided to restart their business by merging their operations with a new company

3 . . i
name. 'G* Lotus Miles Ltd'. They both shared their contacts of vendors and sutomers with each other and
started getting order for events. food. decoration. entertainment, etc. Their business started blooming as their
costs were lesser and more customers with demand of services given by Gaurav and Geetika.

Now its been two years that both of them have grown their busimess into other cities of Maharastra like. Pune,

3 . « ‘ . 3
Ahmednagar and Nagpur under the company name of 'G” Lotus Miles Ltd'. The company is growing with
increased annual sales of 30%.

Which of the following is applicable in case of "G? Lotus Miles 1td"?
1. Product extension merger
2. Market extension merger
3. Vertical merger

4, Horizontal merger

Options :

485584134041. 1
485584134042. 2
485584134043. 3
485584134044. 4
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e . 9 &1 g FIforg <R vl & I AT (46-50)

TR 4ais § qied {9 gde AAoe $uHl o7 Hifere 81 98 [daTe §aR1e, 6@, THad fg o1
ST Sl Igdl U1l T8 e Tidialea, §iid, HisH SR 34ReH 9 YR 8id Y| 98 Joae &l
O, HISH 3R GG (o fagdrsi O sr3ed™ o ol

firg. firforeet das § e A, 9Me @FUH IR T9ae HU1 $1 ATas o | 98 SIuRe auT qiRkai
A 5 A Ued! &1 HieH SR Toae et smaRasmarsi &1 9 &l o |

HIAS 10 ADHSI3 - 9§ ggd TRd R M1 3197 307 &0 § 35T UagiH & 3 U1 i gode
IR TS &1 Wi B Sl & DR M Ul B BT-aT 814 @l | T U aN 918 &g Ao
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"G2 @ley Uged fo. & &g T (49 T I B 91 arL gidl 52
1. 3@ fo%R faay
2. SR fG%R faom
3. SR faey
4. giferst faem
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Mergers: Read the case and answer the questions (46-50)

Gaurav owned an event management company called Lotus Ltd.' in Mumbai. He used to organise weddings,
meetings. conferences , ete. These events were full of activities, musie, food and entertainment. He used to
outsource decoration material. food as well as entertamnment from different vendors.

Ms. Geetika was an owner of catering and decoration company called Miles Ltd. in Mumbai. She used to cater
the food and decoration needs of various customers such as corporate ag well as family functions.

Gaurav & Geetika were performing well in their respective businesses until covid-19 lockdown was
introduced. Due to lack of demand for food. decoration and events, both the companies started facing losses.
As the lockdovwn was lifted. nearly after a year, both Gaurav and Geetika were facing problems in managing
their inereasing operational costs with lesser number of customers. As they were planning to look for better
business opportunity. they got to meet each other at an 'exponential’ organised by trades of Mumbai at BKC
ground.

In this 'exponential’, there were different traders sharing their business ideas with each other. Hence. it was
here that Gaurav and Geetika decided to restart their business by merging their operations with a new company

3 . . i
name. 'G* Lotus Miles Ltd'. They both shared their contacts of vendors and sutomers with each other and
started getting order for events. food. decoration. entertainment, etc. Their business started blooming as their
costs were lesser and more customers with demand of services given by Gaurav and Geetika.

Now its been two years that both of them have grown their busimess into other cities of Maharastra like. Pune,

3 . « ‘ . 3
Ahmednagar and Nagpur under the company name of 'G” Lotus Miles Ltd'. The company is growing with
increased annual sales of 30%.

The new company so formed "G* Lotus Miles Ltd" is an example of:
1. Acquisition
2. Franchising
3. Amalgamation
4, Absorption

Options :

485584134045. 1
485584134046. 2
485584134047. 3
485584134048. 4

Question Number : 147 Question Id : 48558433512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp?2

collegedunia:




[ger . 35 1 SAea0- DI AR Ul & IR <IfoTU (46-50)

1ikd Has 4 'dled fd. A gde S-oie $Y-1 &1 J1ia® 5| g [ddTs ARG, d6@, FEa g 31
ST Sl Igdl U1l T8 e Tidialea, §iid, HisH SR 34ReH 9 YR 8id Y| 98 Joae &l
O, HISH 3R GG (o fagdrsi O sr3ed™ o ol

firg. firforeet das § e A, 9Me @FUH IR T9ae HU1 $1 ATas o | 98 SIuRe auT qiRkai
A 5 A Ued! &1 HieH SR Toae et smaRasmarsi &1 9 &l o |

HIAS 10 ADHSI3 - 9§ ggd TRd R M1 3197 307 &0 § 35T UagiH & 3 U1 i gode
IR TS &1 Wi B Sl & DR M Ul B BT-aT 814 @l | T U aN 918 &g Ao
B T T IRE R ifcesT 0 Uil digd 9l g URare- arTd & Yaed B $isAgal dHd $I G
Y| oid d dgaY SHauIy JaER BI dag &I afoHl §91 38 U, d & Ot 78S § Hag & il g
OIS Us 'TaUHRE ¥ U g8 9 |

<9 TaqUIHRge ¥ dgd 9 MR U Sl Yo G5 & H1Y Y- AR [d=R 95l $3 3¢ U1 99 UbR g8l
T TRA SR et 7 S0 aiEmeH! 3 [0 & gR1 U 99 711 162 dicd A1sd A ¥ 391 aud T
Y F3 &1 (i femn

3% TP gER 9 faspdrafl 3IR AEH! & YD 9ieN (B SR SUeH g HIeH, Fuae R JAReH &
ISR O = (Y| 371 SHIE™ Bw B N Fiid 36! ANTd BH 8l Mg df 2R 7Ra 3R Mifae
SR 21 S arell aredl o1 0 @3- 9 AEH| S 9= 9¢ 75 41|

36 &1 a9 1 g § 3R F6i1 ST AU ‘G2 Wied HIged o 18 & H1Y HERIY & 3 el o g,
HENETR SR ARG H o et fera 81 AT 30% 91 g3 alv® 6361 3 91y WIid BRI 5 |

T T T P! "G e AGE . TP AR5 -
1. e
2. VTS ioiTT
3. GHHEA
4. 3Gy

Options :

485584134045. 1
485584134046. 2
485584134047. 3
485584134048. 4
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Mergers: Read the case and answer the questions (46-50)

Gaurav owned an event management company called Lotus Ltd.' in Mumbai. He used to organise weddings,
meetings. conferences , ete. These events were full of activities, musie, food and entertainment. He used to
outsource decoration material. food as well as entertamnment from different vendors.

Ms. Geetika was an owner of catering and decoration company called Miles Ltd. in Mumbai. She used to cater
the food and decoration needs of various customers such as corporate ag well as family functions.

Gaurav & Geetika were performing well in their respective businesses until covid-19 lockdown was
introduced. Due to lack of demand for food. decoration and events, both the companies started facing losses.
As the lockdovwn was lifted. nearly after a year, both Gaurav and Geetika were facing problems in managing
their inereasing operational costs with lesser number of customers. As they were planning to look for better
business opportunity. they got to meet each other at an 'exponential’ organised by trades of Mumbai at BKC
ground.

In this 'exponential’, there were different traders sharing their business ideas with each other. Hence. it was
here that Gaurav and Geetika decided to restart their business by merging their operations with a new company

3 . . i
name. 'G* Lotus Miles Ltd'. They both shared their contacts of vendors and sutomers with each other and
started getting order for events. food. decoration. entertainment, etc. Their business started blooming as their
costs were lesser and more customers with demand of services given by Gaurav and Geetika.

Now its been two years that both of them have grown their busimess into other cities of Maharastra like. Pune,

3 . « ‘ . 3
Ahmednagar and Nagpur under the company name of 'G” Lotus Miles Ltd'. The company is growing with
increased annual sales of 30%.

"G? Lotus Miles Ltd." is related to-

1. Manufacturing

[

. Service
3. Distribution
4, Trading

Options :

485584134049. 1
485584134050. 2
485584134051. 3
485584134052. 4
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[ger . 35 1 SAea0- DI AR Ul & IR <IfoTU (46-50)

1ikd Has 4 'dled fd. A gde S-oie $Y-1 &1 J1ia® 5| g [ddTs ARG, d6@, FEa g 31
ST Sl Igdl U1l T8 e Tidialea, §iid, HisH SR 34ReH 9 YR 8id Y| 98 Joae &l
O, HISH 3R GG (o fagdrsi O sr3ed™ o ol

firg. firforeet das § e A, 9Me @FUH IR T9ae HU1 $1 ATas o | 98 SIuRe auT qiRkai
A 5 A Ued! &1 HieH SR Toae et smaRasmarsi &1 9 &l o |

HIAS 10 ADHSI3 - 9§ ggd TRd R M1 3197 307 &0 § 35T UagiH & 3 U1 i gode
IR TS &1 Wi B Sl & DR M Ul B BT-aT 814 @l | T U aN 918 &g Ao
B T T IRE R ifcesT 0 Uil digd 9l g URare- arTd & Yaed B $isAgal dHd $I G
Y| oid d dgaY SHauIy JaER BI dag &I afoHl §91 38 U, d & Ot 78S § Hag & il g
OIS Us 'TaUHRE ¥ U g8 9 |

<9 TaqUIHRge ¥ dgd 9 MR U Sl Yo G5 & H1Y Y- AR [d=R 95l $3 3¢ U1 99 UbR g8l
T TRA SR et 7 S0 aiEmeH! 3 [0 & gR1 U 99 711 162 dicd A1sd A ¥ 391 aud T
Y F3 &1 (i femn

3% TP gER 9 faspdrafl 3IR AEH! & YD 9ieN (B SR SUeH g HIeH, Fuae R JAReH &
ISR O = (Y| 371 SHIE™ Bw B N Fiid 36! ANTd BH 8l Mg df 2R 7Ra 3R Mifae
SR 21 S arell aredl o1 0 @3- 9 AEH| S 9= 9¢ 75 41|

36 &1 a9 1 g § 3R F6i1 ST AU ‘G2 Wied HIged o 18 & H1Y HERIY & 3 el o g,
HENETR SR ARG H o et fera 81 AT 30% 91 g3 alv® 6361 3 91y WIid BRI 5 |

"GP Tiey Hged o1, &1 HaY &-
1. fafmio
2. Har
3. fadrm

4, U
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Mergers: Read the case and answer the questions (46-50)

Gaurav owned an event management company called Lotus Ltd.' in Mumbai. He used to organise weddings,
meetings. conferences , ete. These events were full of activities, musie, food and entertainment. He used to
outsource decoration material. food as well as entertamnment from different vendors.

Ms. Geetika was an owner of catering and decoration company called Miles Ltd. in Mumbai. She used to cater
the food and decoration needs of various customers such as corporate ag well as family functions.

Gaurav & Geetika were performing well in their respective businesses until covid-19 lockdown was
introduced. Due to lack of demand for food. decoration and events, both the companies started facing losses.
As the lockdown was lifted. nearly after a year, both Gaurav and Geetika were facing problems in managing
their inereasing operational costs with lesser number of customers. As they were planning to look for better
business opportunity. they got to meet each other at an 'exponential’ organised by trades of Mumbai at BKC
ground.

In this 'exponential’, there were different traders sharing their business ideas with each other. Hence. it was
here that Gaurav and Geetika decided to restart their business by merging their operations with a new company

3 . . i

name. 'G* Lotus Miles Ltd'. They both shared their contacts of vendors and sutomers with each other and
started getting order for events. food. decoration. entertainment, etc. Their business started blooming as their
costs were lesser and more customers with demand of services given by Gaurav and Geetika.

Now its been two years that both of them have grown their busimess into other cities of Maharastra like. Pune,

3 . « ‘ . 3
Ahmednagar and Nagpur under the company name of 'G” Lotus Miles Ltd'. The company is growing with
increased annual sales of 30%.

Match List I wath List IT

LIST1I LIST II
A |[Event Management Company I PMiles Ltd
B. [External Expansion II. [Lotus Lid.
C. |[Operational synergy T Merger
D. [Catering and decoration company | IV |G2 Lotus Miles Ltd

Choose the correct answer from the options given below:
1. A-I. B-III. C-IL. D-IV
2. A-IL B-IIL. C-IV. D-I
3. A-IIIL, B-I1L C-IV, D-I

4. A-IV, B-IIL. C-I1. D-I

Options :

485584134053. 1
485584134054. 2
485584134055. 3
485584134056. 4
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e ; 9 &7 2enu Hiforg iR Wil & IR A (46-50)

7RG 4as | Ticd f& 9% sde THuitic SO &1 A & | 98 [da1g YARIE, 96@, T e &
TSI AT Igal Ul T8 e Tdfafea, i, HieH 3R FAReE 9 1RQR 51 Y1 98 Jaae &
T, Yo SR FAReH [afid fasharsi 9 seeas s 41|

g, firfoest dag o el A, 19 @HYH SR Golae -l 31 Hliers o] 98 SIUNe qul qikaie
Al &g fafim aes] &1 e SR goae el sravgsdrsi &1 g ol o |

HIfAS 19 AHSE a7 Y Ugd 1R AR T o3 s &1 § o1 Ui &% 3@ 91 HIeH g9iiae
3R 2maieEl @ /i § SH & SR AT Ul of g1hdr i1 @t anyT U gy 918 od diears
BTN T a1 1R 37 R &0 UIes! Higd g9¢! g5 YN arld & Ya- H $igAIgal SHd o1 5
Y| Oid d dga) Hauy AER DI qa¥ $I dioHl &1 38 2. d °f & 9l A8s 4 Has & Al gR
SIS U TR # Uh gE 9 fied|

9 TRYHRET ¥ 9g5d U AURT 4 S T g3 & 1Y 39 A [d=R 95 $3 3 41 58 UOR Ugl
TRA SR [fdep1 4 S0 gREreHl & 9o & gRIUS 92 A1 G2 died HI5ed [d." 8 391 oIasy 9
URY & &1 iy fomn

3514 TP gER 3 [asparsil 8IR UEH! & HYD A= [hd SR SeH g HIeH, Fde dHR JAREH &
HISR O TR Y| 3991 I B A ol Fiid 399! arld &Y gl s df $IR 7RG AR Mice)
SR 21 S are! Tarsti &1 151 $34 d1c TeH! &f G ag Ts o

376 &1 a9 €1 g § SR I8 S0 A 'GP Wied HIged o1 18 & H1Y HERIY & oy el ol qul,
HEHEATR R AR | T Bt (3701 8 | FU-T 30% T §5 Al a1 &b HIY WIid PGl 6

T 1901 I 11 ¥ fHe Sife
T 1 T 11
A |gde gdoHe Bl L [z fa
B. e faewr I | dfieH fd.
C. |ufErad araHa 11 | 7ol (e
D. |@HIE td §uEe &uHl | IV |2 e asd fa
Fafied el § O 98! Su &l 994 Sl :

1. AL B-III, C-II, D-IV
2. A-IL B-1IIL C-IV, D-I
3. A-IIL B-IL C-IV, D-I

4. A-IV. B-III. C-I1. D-I

Options :
485584134053. 1
485584134054. 2

485584134055. 3
485584134056. 4 .
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Mergers: Read the case and answer the questions (46-50)

Gaurav owned an event management company called Lotus Ltd.' in Mumbai. He used to organise weddings,
meetings. conferences , ete. These events were full of activities, music, food and entertainment. He used to
outsource decoration material, food as well as entertainment from different vendors.

Ms. Geetika was an owner of catering and decoration company called Miles Ltd. in Mumbai. She used to cater
the food and decoration needs of various customers such as corporate ag well as family functions.

Gaurav & Geetika were performing well in thew respective businesses until covid-19 lockdown was
introduced. Due to lack of demand for food. decoration and events. both the companies started facing losses.
As the lockdown was lifted. nearly after a year, both Gaurav and Geetika were facing problems in managing
their inereasing operational costs with lesser number of customers. As they were planning to look for better
business opportunity, they got to meet each other at an 'exponential’ organised by trades of Mumbai at BKC
ground.

In this 'exponential’, there were different traders sharmg their business 1deas with each other. Hence. 1t was
here that Gaurav and Geetika decided to restart their business by merging their operations with a new company

7 . . .
name. 'G* Lotus Miles Ltd'. They both shared their contacts of vendors and sutomers with each other and
started getting order for events. food. decoration. entertainment, ete. Their business started blooming as their
costs were lesser and more customers with demand of services given by Gaurav and Geetika.

Now its been two years that both of them have grown their business into other cities of Maharastra like. Pune,

3 . « ‘ . 3
Ahmednagar and Nagpur under the company name of 'G* Lotus Miles Ltd'. The company 1s growing with
increased annual sales of 30%.

If Gaurav could raise sufficient funds to acquire Miles Ltd'. This acquisition would be called:
1. Friendly Acquisition
2. Reverse Acquisition
3. Back flip Acquisition
4. Hostile Acquisition

Options :

485584134057. 1
485584134058. 2
485584134059. 3
485584134060. 4
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e ; 9 &7 2enu Hiforg iR Wil & IR A (46-50)

7RG 4as | Ticd f& 9% sde THuitic SO &1 A & | 98 [da1g YARIE, 96@, T e &
TSI AT Igal Ul T8 e Tdfafea, i, HieH 3R FAReE 9 1RQR 51 Y1 98 Jaae &
T, Yo SR FAReH [afid fasharsi 9 seeas s 41|

g, firfoest dag o el A, 19 @HYH SR Golae -l 31 Hliers o] 98 SIUNe qul qikaie
Al &g fafim aes] &1 e SR goae el sravgsdrsi &1 g ol o |

HIfAS 19 AHSE a7 Y Ugd 1R AR T o3 s &1 § o1 Ui &% 3@ 91 HIeH g9iiae
3R 2maieEl @ /i § SH & SR AT Ul of g1hdr i1 @t anyT U gy 918 od diears
BTN T a1 1R 37 R &0 UIes! Higd g9¢! g5 YN arld & Ya- H $igAIgal SHd o1 5
Y| Oid d dga) Hauy AER DI qa¥ $I dioHl &1 38 2. d °f & 9l A8s 4 Has & Al gR
SIS U TR # Uh gE 9 fied|

9 TRYHRET ¥ 9g5d U AURT 4 S T g3 & 1Y 39 A [d=R 95 $3 3 41 58 UOR Ugl
TRA SR [fdep1 4 S0 gREreHl & 9o & gRIUS 92 A1 G2 died HI5ed [d." 8 391 oIasy 9
URY & &1 iy fomn

S5 U GIR W fasdrei 3R IR & Hud W [l 3R e 8 HIST, IWae 3R JeH &
3SR T &= [T | ST a9 Ba Hor il Fifd SAB! ArTd HH g T8 dT SR 7k SR ffa
SR 2 S ardl Garsfi @1 1iN @ ard U] @i T 98 TS Af|

376 &1 g g1 g9 § SR I8l S0 AU 'GP Wied HIged o 18 & H1Y HERIY & o el ol qul,
HEHEATR SR AN | Ui Bl (o701 8 | FUFT 30% T §5 dNluD (9! & H1Y UIId PR 6l 6

a1E 7RA A5 [ & AR & &1 Sawds be o2l urdl dl 48 HUUgy S :
1. feEad ffvusm
2. faudia siftmem
3. T SHUTED
4, REFAY TR

Options :

485584134057. 1
485584134058. 2
485584134059. 3
485584134060. 4
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